
Reservedelsliste DCL079 LAMP 1

Detalj
e

Artikelnummer Antal Artikelbeskrivelse Almen�beskrivelse Øvrig
information

Reperationsi
nstruktion

MARKEDE
R1 N504819 1 COVER �� No

2 N504820 1 LENS �� No

3 N507253 1 SEAL �� No

4 N510286 1 LEAD�SA �� No

5 330045-01 6 SCREW �� No

6 330019-24 6 SCREW M3�X�19 �� No

7 N504828 1 CORD�PROTECTOR �� No

8 N504832 1 CORD�CLAMP �� No

9 330019-41 2 SCREW �� No

10 90640343 1 SCREW �� No

11 N504817 1 WASHER �� No

12 N511906 1 INSERT �� No

13 330019-04 10 SCREW M3.63�x�19mm �� No

14 N504833 1 SHIELD �� No

15 N507800 2 SCREW M4�X�0.7 �� No

16 N504835 2 WASHER �� No

17 N504836 2 WASHER �� No

18 N504811 2 HOLDER �� No

19 330045-53 15 SCREW �� No

20 330045-43 9 SCREW �� No

21 N521634 1 CLAMP �� No

22 N504851 2 PIN �� No

23 N504850 2 LEVER �� No

24 N521635 1 CLAMP �� No

28 330019-00 20 SCREW M3�x�16�-�T10 �� No

31 N504843 1 SWITCH�COVER �� No

32 N510973 2 SCREW ST2.5�X�7 �� No

33 N509849 1 PCB �� No

34 N504797 3 LINK �� No

35 N506414 1 CAP �� No

36 N504788 1 HOUSING BATTERY �� No

37 330019-38 6 SCREW 3.5�X�19 �� No

38 N532980 1 TERMINAL�SA BATTERY �� No

Page�1



Reservedelsliste DCL079 LAMP 1

Detalj
e

Artikelnummer Antal Artikelbeskrivelse Almen�beskrivelse Øvrig
information

Reperationsi
nstruktion

MARKEDE
R41 N504775 1 HOUSING �� No

42 N504801 3 PIN �� No

43 N504799 3 LEG �� No

44 N504839 1 O�RING �� No

45 N511906 1 INSERT �� No

46 N504814 1 CORD�PROTECTOR �� No

47 N504812 1 CORD�PROTECTOR �� No

55 N504844 1 PIN �� No

56 N504845 1 SPRING �� No

57 N506089 1 PIN �� No

58 N504846 1 BUTTON�RELEASE �� No

60 N543986 1 LED�LIGHT �� No XJ

61 N543983 1 CLAMP�SA �� No

62 N543984 1 CLAMP�SA �� No

63 N543981 1 HANDLE�SA �� No

64 N543985 1 COLLAR�SA �� No

65 N543973 1 TUBE�ELEVATING�SA SMALL �� No

66 N543974 1 TUBE�ELEVATING�SA LARGE �� No

67 N543978 1 COLUMN�SA �� No

68 N582930 1 FOOT�SA BATTERY �� No

69 N508875 1 LABEL SWITCH �� No

70 N522932 1 RATING�PLATE EURO �� No XJ

71 N547992 1 WARNING�LABEL HEAT �� No

72 N547991 1 WARNING�LABEL PINCH �� No

Page�2


